e ————

Front/Rear Arm Socket Assembly and Hardware
ADJASBA Seats with TRRO Option (16"-24" Wide)

Rear Arm Socket and Pelvis Restraint Belt

Mounting Bracket for TRRO option are non-
serviceable parts. Call Technical Services for
assistance. (1-800-832-4707).

ADJASBA Seat Frame
and Seat Pan shown
for reference only




Front/Rear Arm Socket Assembly and Hardware
ADJASBA Seats with TRRO Option (16"-24" Wide)

Item
Number

Note

Part Number

Description

Quantity Per

Package

Assembly

1

© © 0O ~NO UL b WN

1136025-NLA

1122619
1122620

NLA - Kit, Front/Rear Arm Socket Assembly
Mounting Hardware For TRRO Option
Screw, Hex Head w/ Patch (5/16-18 x 3/4")
NLA - Screw, Hex Head w/ Patch (5/16-18 x 1")
Screw, Socket Head (5/16-18 x 3/4")
Washer, Steel (5/16 x 3/4 x 1/16")

T-Nut (5/16-18)

T-Nut (5/16-18)

Screw, Hex Head w/ Patch (5/16-18 x 5/8")
Socket, Arm, Front - Right

Socket, Arm, Front - Left

1

PR R RPRRPRRERRPRPR

1

PR NNR AR R




